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| Time: 10 Minutes | Paper Math 8(T-1) |  Total Marks: 10

| 6th Month, 2nd Week, 1st Day | Ex. 5.3 Q # (4,5,6,7,8) |

% Answer the following questions: (2.5x4=10) - ;,.,lzé.;,mnj" 310%)
(i) The deviation from 18.5 of 10 different values are 10.2, -17.5,-11.25,15.50,
14.28, - 13.75, 14.5, — 12.50, 13.50 and 12.50, Calculate the mean.

10.2, -17.5,-11.25,15.50, 14.28, — 13.75, 14.5, - < JIF18.5 < & ks (P10

I 12.50.913.50
(ii) The mean mass of 10 students 30.5kg, the masses of 9 students are 25kg,
29kg, 28kg, 32kg, 33.5kg, 30.5 kg, 31.7kg, 30.7 kg and 31.5kg. What is

the mass of 10! student?

IE 320158 28015 29018 252 LS u¥ M92 15K 30,500 18U IB10

S e d YU 10 0 L 31501 (15K 3070158 3170158 335018 320

(iii) The mean height of 10 women is 1.5m. Find the total height of 10

women. LSS 1106 2158 S 15 10

(iv) The mean length f 5 ribbons is 15.5m the mean length of 4 ribbons is
14.75m. Find the length of 5™ ribbon.

Sy £ e 2147508 04 2155000825
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Total Marks: 10 |

| 6th Month, 2nd Week, 1st Day | Ex. 5.3 Q # (4,5,6,7,8) |

W Answer the following questions: (2.5 x 4 =10) -U ;.,,m:@my‘j“ 3109}
(i) The deviation from 18.5 of 10 different values are 10.2, -17.5,-11.25,15.50,
14.28, - 13.75, 14.5, — 12.50, 13.50 and 12.50, Calculate the mean.

10.2, -17.5,-11.25,15.50, 14.28, — 13.75, 14.5, - < JIF18.5 = & ks (P10
I 12.50.413.50
(ii) The mean mass of 10 students 30.5kg, the masses of 9 students are 25kg,
29kg, 28kg, 32kg, 33.5kg, 30.5 kg, 31.7kg, 30.7 kg and 31.5kg. What is

the mass of 10t student?

I 3201 28018 29,01 252 LS UK b9 (L 30501 SUFIb10
S WEUA 10 L 3150 (1K 30,7018 317005 335,108 32

(iii) The mean height of 10 women is 1.5m. Find the total height of 10

women. e S E P 106 21506 e E 1510
(iv) The mean length f 5 ribbons is 15.5m the mean length of 4 ribbons is
14.75m. Find the length of 5 ribbon.
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